
Multiplication 

Worksheet-2 

 

1. Choose the correct answer. 

1. Multiply 24879 by 386. 

 

a) 9063294                  b) 9630294 

c) 9603294                  d) None of these 

2. _____ + _____ + _____ + _____ + _____ = 5 × 39 

 

a) 5                             b) 29 

c) 30                           d) 39 

3. 74527 × 23 = ________ 

 

a) 1614121                b) 1724121 

c) 1714121                d) None of these 

4. Find the product of the tenth multiple of 5 and eighth multiple 9. 

 

a) 6600                b) 4600 

c) 5600                d) 3600 

5. A theatre has 78 rows of seats with 25 seats in each row, in a day 

98 seats remain vacant. How many people are present in that day? 

 

a) 1752                       b) 1652 

c) 1552                       d) 1852 

6. 2729 × 546 = _____ 

 

a) 149034                        b) 1490034 

c) 2490034                      d) None of these 

7. 7385 × 1000 × 100 = ________ 
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a) 7385000                  b) 735800000 

c) 738500                    d) 738500000 

8. A theater has 66 rows of seats. Each row has 55 seats. If one ticket 

costs Rs. 235, then how much money will the theater earn in one 

show? 

 

a) Rs. 853050                     b) Rs. 835050 

c) Rs. 583050                     d) Rs. 850350 

9. 27 + 27 + 27 + 27 + 27 = _____ × 5 

 

a) 5                      b) 135 

c) 27                    d) None of these 

10. There are 325 toffee in a box. Julie purchased 45 boxes of toffee, 

but she found 885 toffees were rotten. What is the number to toffees 

that are in good condition? 

a) 13740                      b) 23740 

c) 17340                      d) 13470 

 

2. Write the multiplication fact for each of the following addition 

facts: 

(i) 4 + 4 + 4 + 4 + 4 + 4 = 24            

(ii) 6 + 6 + 6 + 6 + 6 = 30                  

(iii) 7 + 7 + 7 + 7 + 7 + 7 + 7 = 49   

(iv) 8 + 8 + 8 + 8 = 32                        

(v) 9 + 9 + 9 + 9 + 9 + 9 + 9 = 63  

 

3. Solve  

 (i) What is the product of 61 × 4? 
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(ii) How many fingers do 5 boys have altogether? 

(iii) How many days are there in 5 weeks? 

(iv) How many months are there in 6 years? 

(v) A mosquito has 6 legs. How many legs do 9 mosquitoes have? 

(vi) There are 8 tables in a row. If there are 16 such rows, how many 

tables are there altogether? 
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